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UNIVERSITY OF NORTH BENGAL 

B.A. Honours/Programme 3rd Semester Examination, 2022  

SEC1-P1-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 
The figures in the margin indicate full marks. 

 

 The question paper contains SEC-1A and SEC-1B. 
The candidates are required to answer any one from two Sections. 

Candidates should mention it clearly on the Answer Book. 
 SEC-1A 
 jpuk ys[ku 

 lewg-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) jpuk ys[ku Hkusdks ds gks \ Li’V ikuqZgksl~A 

([k) foKkiu ys[kudks uewuk izLrqr xuqZgksl~A  

(x) i= ys[kudks “kq:vkr j vUR;dks <k¡pk dLrks gqUN \   

(?k) ljdkjh i= j O;fäxr i=ek ds Qjd ikbUN \  

(³) laokn ys[ku HkUukys ds cqf>UN \  

(p) Lkk{kkRdkj ys[kudk fof/kg:dk uke ys[uqgksl~A  

   

 lewg-[k  

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) i= ys[kudk izdkjg:A 

([k) Lkkjka”k ys[ku fof/kA  

(x) fucU/kdk izdkjA  

(?k) Lkaokn ys[kuA  

(³) jsfM;ks okÙkkZ ys[kudks uequkA  

(p) Lkekpkj ys[us fof/kA  
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 lewg-x  

3. rydk dquS nqbZ iz”ug:dk mÙkj ys[uqgksl~A 12×2 = 24

(d) vk¶uks dystdks HkukZlEcU/kh foKkiu r;kj ikuqZgksl~A 

([k) lk{kkRdkj ys[kudks ifjp; fnanS ;ldks egÙockjs izdk”k ikuqZgksl~A  

(x) xkm¡dks lMddks nqjkoLFkkckjs lekpkj i=dks lEikndykbZ ,mVk i= ys[uqgksl~A  

(?k) fucU/k ys[uqgksl~ (dquS ,d) 
(i) vuykbu v/;;udk Qkbnk j uksDlkuh  

(ii) o{̀k jksi.k j i;kZoj.k laj{k.k 

 

  
 SEC-1B 

 Hkk’kk f”k{k.k 

1. rydk dquS pkjoVk iz”ug:dk mÙkj ys[uqgksl~A 3×4 = 12

(d) ekrH̀kk’kkdks eq[; fo”ks’krk ds gks \ 

([k) nkslzks Hkk’kk Hkusdks ds gks \  

(x) Hkk’kk f”k{k.kdk fo”ks’krk ds ds gqu~ \  

(?k) la;qä okD; Hkusdks ds gks \  

(³) dF; Hkk’kk j ys[; Hkk’kkdk chp ewy ikFkZD; ds gks \  

(p) Hkk’kk f”k{k.kdk rhu fof/k ds ds gqu~ \  
   

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) Hkk’kk f”k{k.kdk izdkj j {ks=A 

([k) ys[; Hkk’kk j vkSipkfjd Hkk’kkA  

(x) Hkk’kk f”k{k.kdk fn”kkg:A  

(?k) nkslzks Hkk’kk f”k{k.kdk QkbnkA  

(³) EkkrH̀kk’kkdks iz;kstuA  
   

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) okD; Hkusdks ds gks \ ;ldk izdkjg:dks ckjsek lksnkgj.k ppkZ xuqZgksl~A 

([k) Hkk’kk f”k{k.kdk leL;kckjs leh{kkRed NyQy izLrqr xuqZgksl~A  

(x) izHkko”kkyh Hkk’kk f”k{k.kdk mik;ckjs NyQy izLrqr xuqZgksl~A  

(?k) EkkrH̀kk’kk f”k{k.k j nkslzks Hkk’kk f”k{k.kdk ckjsek ppkZ xuqZgksl~A  
 ——×—— 
 


